ol

&S olgils ali

Lol Joxo
R L )
3 A ey

"lr‘h‘l-'h“l-"'i-‘lr"b"i"ﬁ-'l-‘h"l-'h"r'&'I-"'F'h"r\-*r‘h‘b*l‘b*b\-‘bq{‘h‘hk‘h-‘b‘h"l-‘h"h-‘h-‘h-"Ir"i-%‘t‘l‘h‘r‘h‘l‘h‘h‘i‘l‘h‘b‘h‘h‘h\*ﬁ}:ﬂb‘ﬁr‘bﬁ"r"b‘h‘l‘h‘b‘h‘b\-‘b‘b‘b‘b‘h‘b‘h‘b‘h‘b\*ﬁ*ﬁ‘t‘h‘h\ A

g, gt ool Chlon 3 ol oS 2018 _,ﬂ
{n-_]:l ,I_-.L:.u:-r- FL“1

4Ty

T T
Sl 5 Sl pgle e iy
s Sl e Ol il

PR Jlm Jo10 diguili ol of il 515 (sl20 599 (5999 (3903T

YAV o (139 50 39) il 5 o233 e

|'_|‘l11',.u-l ﬁJI-b-; 4 alasy -I'IJ_';II!:H}I :r,- -I..IJI':"'

Bylent U | oglat 31 | s sland ceiloctal alas g3,
T ) ¥ S g ages olii |
Fu Ln) v Sapd | Y
B Y Ts =18 Y

ﬂ | i (WS

L'rﬂ*,_]l.udn,}q,g ]

duily pod Jlowe Ol padils §1 salinl

- - - —— -‘
T
"I-"b‘h"h‘h‘hr‘b‘b\-‘b"ﬁ'h-“h-"h-“h-‘h"h-"lr"h-"ﬁ"ﬂh“lrl‘i"i"ﬁ-t‘h"'lr'hr‘l-"h\-‘r‘h‘b‘h"l-'hr"lr"b"l-Vi-'h*t‘lr}‘l-‘h‘l‘t}_‘t‘h‘h‘h‘h\-‘h"l-"Ir"'lr"l-'h-"lr'h"h-\h‘h‘h‘h‘h‘b\*ﬂ-‘i‘h‘b‘h‘h‘t‘\‘t‘hﬁ*ﬁh‘h'i'l

e o e e e e A ol . e e e i i e e e e e e




.
L]

Ll
1

T

8-

9

O ol (il )5 (990 3T (wvadti Colw g S puo

| PART A: Vocabula

I Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes |

|‘ each sentence. Then mark the correct choice on your answer sheet.
Ancient alchemists believed that it was possible to .......... lead into gold.
1) mingle 2) direct 3) transfer 4) transmute

Dan always beats me at chess because he develops such an ......... game plan that [ can
never predict his next move.

1) eventual 2) ambiguous 3) elaborate 4) objective

His election as President represented the .............. of his career.

1) summit 2) motivation 3) triangle 4) periphery
She found the job frustrating, and felt she wasn’t ......... anything there.

1) flourishing 2) accomplishing 3) evolving 4) satisfying
Britain’s ......... over its colonies was threatened once nationmalist sentiment began to
spread around the world.

1) hegemony 2) preference 3) compromise 4) independence
| - I — all of his success to his mother’s undying encouragement.

1} interprets 2) converts 3) attributes 4) results

You can .......... the flavor of most dishes with the careful use of herbs.

1) initiate 2) impress 3) precede 4) enhance

The pirate Blackbeard had a reputation for being a harsh, .......... man.

1) reliable 2) ruthless 3) perpetual 4) prevalent
Being a direct relative of the deceased, her claim to the estate was ............ .

1) prominent 2) profound 3) legitimate 4) reckless

10- There are more than thirty species of rattlesnakes, varying in length from 20 inches to six

feet and also varying in ........... of venom.
1) domination 2) detection 3) congquest 4) toxicity

PART B: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or

11

12

13-
14-
15-

choice on your answer sheet. |

Football is (11) ....... ball game in the world and the most popular as a spectator sport.
The simplicity of the rules and the fact that it can be played practically everywhere
(12) ........ to this popularity. It is played on all continents and in more than 200
countries. At the 2000 eensus (13) ........ by the world governing body, the Federation
Internationale de Football Association (FIFA), (14) ........ some 30 million registered
players at all levels. In addition, there are (15) ....... casual players involved in pickup
games in streets, on parking lots, on school playgrounds, in parks, and even, as in Brazil,
on beaches.

1) played the most widely 2) the most widely played

3) plaved most widely 4) the widely most played

1) has contributed 2) will be contributing

3) had contributed 4 will have contributed

1) to be taken 2) was taken 3) that taken 4) taken
1) which were 2) there were 3) they were 4y were
1) many millions 2) many of millions

3) many millions of 4} many million
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| Part C: Reading Comprehension
| Directions: Read the following three passages and answer the questions by choosing the

s 360C AR g oyl ol

best choice (1), (2), (3), or (4). Then mark the correct choice on your answer sheet.

Passage 1

The oceans get most of their salt from rivers, but some salt also comes from volcanic gases
and hot fluids released from hydrothermal vents on the ocean floor. Rivers contain an average
of about 0.120 g/kg of salts and deliver about 3 billion metric tons of salis to the ocean each
year. As water is continuously cycled between the oceans, the atmosphere, and the land over
hundreds of millions of years, the salts from rivers remained in the oceans, which explains why
seawater is saltier than river water.,

However, ancient salt deposits indicate that the average ocean salinity has remained roughly
constant for at least 1.5 billion years. Ocean salinity is held nearly constant over geologic time
by processes that remove salts from seawater at about the same rate at which they are supplied.
Salts leave the ocean primarily when they bond chemically to clay sediments as they sink to
the sea floor in a process called reverse weathering or adsorption. They are also removed when
growing marine plants and animals incorporate them to form body parts, when enclosed seas
evaporate to the point that salts precipitate out and form minerals, and when sea spray, blown
from waves into the air, leaves a salty aerosol in the air or a salty film on nearby land.

It is TRUE that ------—-- ;

1) there is more salt in world rivers combined than in all seas

2) oceans recerve about 3 billion metric tons of salts annually

3) the amount of salt released from hydrothermal vents on the ocean floor is negligible

4) rivers are the major contributor of salt to the oceans

The word “which” in paragraph 1 refers to ---------- .

1) oceans

2) the fact that the salts from rivers remained in the oceans

3) the salts from rivers

4) water continuously cycled between the oceans, the atmosphere, and the land over hundreds
of millions of years

Which of the following best represents the organization of the information in paragraph 2?

1) A puzzling problem is mentioned and possible solutions are weighed.

2) A seemingly wrong hypothesis is made and followed by counterevidence.

3) A statement is made and the reasons proving its truth value are delineated.

4) A tentative claim is made and several hypotheses to account for it are put forward.

According to paragraph 2, which of the following can be inferred from ocean salts?

1) Marine plants require salt to form body parts.

2) Their amount was not fixed any time before the last 1.5 billion years.

3) The speed at which salts are removed from the oceans is very slow compared with the one
at which they are supplied.

4) If salts had not been removed, the world’s oceans would have become a solid structure over
the years.

The word “bond™ in paragraph 2 could best be replaced by -------- .

1) adhere to 2) blend 3) convert to 4) interact
What is responsible for the formation of a layer of salt on land?
1) A salty aerosol in the air 2) The air blown due to the waves

3) Minerals formed when salts precipitate out 4) Sea spray. blown from waves into the air
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Passage 2

Earth's rocky surface is divided into two types: oceanic, with a thin dense erust about 10 km
thick, and continental, with a thick light crust about 40 km thick. The deep, lighter continental
crust floats higher on the denser mantle than does the oceanic crust, and the mean height of the
crust relative to sea level has two distinet values: continents have a mean elevation of 1100 m,
the ocean has a mean depth of 3400 m,

The volume of the water in the ocean exceeds the volume of the ocean basins, and some
water spills over on to the low lying areas of the continents. These shallow seas are the
continental shelves. Some, such as the South China Sea, are more than 1100 km wide. Most are
relatively shallow, with typical depths of 50-100 m. A few of the more important shelves are:
the East China Sea, the Bering Sea, the North Sea, the Grand Banks, the Patagonian Shelf, the
Arafura Sea and Gulf of Carpentaria, and the Siberian Shelf. The shallow seas help dissipate
tides, they are often areas of high biological productivity, and they are usually included in the
exclusive economic zone of adjacent countries.

The crust is broken into large plates that move relative to each other. New crust is created at
the mid-ocean ridges, and old crust is lost at trenches. The relative motion of crust, due to plate
tectonics, produces the distinctive features of the sea floor sketched in figure 3.6, including
mid-ocean ridges, trenches, island arcs, and basins. The names of the sub-sea features have
been defined by the International Hydrographic Organization (1953), and the following
definitions are taken from Sverdrup, Johnson, and Fleming (1942), Shepard (1963), and
Dietrich et al. (1980).

Which of the following is NOT true, according to paragraph 1?

1) The deepest part of the world’s oceans is more than 3400 m.

2) Earth’s rocky surface comes in two types that are not identical.

3) The mean height of the crust relative to sea level is not the same.

4) The deep, lighter continental crust floats higher on the lighter mantle than does the oceanic
crust

The word “exceeds™ in paragraph 2 is closest in meaning to --—--- -

1) hastens 2) rivals 3) surpasses 4) imposes

According to the passage, seas formed in the low lying areas of the continents are -------- &
1) mostly shallow 2) the continental shelves

3) deeper than the ocean basins 4) almost always less than 1100 km in width
The shallow seas referred to in paragraph 2 —-----e---- .

1) help to empower tides 2) form where there are only adjacent countries
3) can be economically valuable 4) are few in number

Which of the following questions is NOT answered in the passage?

1) Where are new c¢rust created and old crust lost?

2) How wide is the South China Sea?

3) What are some of the distinctive features of the sea floor?

4) Why are sallow seas often areas of high biological productivity?

The passage will most probably continue with the discussion of -——=-—-—--,
1) some more sub-sea features

2) some definitions

3) the role of plate tectonies in relation with sea-floor features

4) a report about the findings of some researchers

WM““Ug)éM)'wu)UQhW‘g)b'ue}?."
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Passage 3

The surface currents of the ocean are characterized by large gyres, or currents that are kept
in motion by prevailing winds, but the direction of which is altered by the rotation of the earth.
The best known of these currents is probably the Gulf Stream in the North Atlantic: the
Kuroshio Current in the North Pacific is a similar current, and both serve to warm the climates
of the eastern edges of the two oceans. In regions where the prevailing winds blow offshore,
such as the west coast of Mexico and the coast of Peru and Chile, surface waters move away
from the continents and they are replaced by colder, deeper water, a process known as
upwelling, from as much as 300 m (1,000 ft) down. This deep water is rich in nutrients, and
these regions have high biological productivity and provide excellent fishing. Deep water is
rich in nutrients because decomposition of organic matter goes beyond production in deeper
water; plant growth occurs only where photosynthetic organisms have access to light. When
organisms die, their remains sink and are oxidized and consumed in the deeper water, thus
returning the valuable nutrients to the cycle. The regions of high productivity are generally
regions of strong vertical mixing in the upper regions of the ocean. In addition to the western
edges of the continents, the entire region around Antarctica is one of high productivity because
the surface water there sinks after being chilled, causing deeper water to replace it.

The passage states that the rotation of the earth —-—-——-,

1) changes the direction of large gyres

2) gives rise to winds that help keep currents in motion

3) is responsible for the surface currents of the ocean

4) prevails over the force of winds

The west coast of Mexico and the coast of Peru and Chile --------- 8

1) experience a process known as upwelling

2) both serve to warm the climates of the eastern edges of their related oceans

3) are different from regions where the prevailing winds blow offshore

4) are regions expected to provide excellent fishing due to their biological productivity, but

they don’t
The word “it” at the end of the passage (line 16) refers to
1) Antarctica itself 2) surface water
3) high productivity 4) the entire region around Antarctica
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